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SECTION A

You must attempt / ~ . THREE questxons in this section. You should NOT spend more than

.30 minutes -on, this.section... st e A 5 50 S e S S e e 8 £ Bt

L

(2

Students' were asked to et up the apparatus to show that an aquat‘ic' green plant, such as
Canadian pond weed (Elodea), produces.oxygen during photosynthesis. The apparatus

- was to be set up so that evolut’ 1 of oxygen bubbles could be obserVed and the rate of

production of bubbles measured

In the space below, draw the apparat you would use for this purpose. No Iabels are

required.

[ 3 marks]
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SECTION B

;dn!cs 1, 2 and 3. You YUST write your answers in the answer booklet prowded
S - MODULE-1

Answer EITHER Question 4 OR Question 5.

4. (a) Describe gly colysis and the Kreb’s Cycle and explam how these mctabohC] hways are
hnkcd ' ‘ - [10 mar‘ks]

(b) 2,4 dinitrophe'nol is a chemical that freely transports H' ion through the inner membrane
of “ochondria. Cyanide inhibits the protein c_omplex' that transfers electrons in the
. electron transport chain to O,. With specific reference to the electron transport chain in
- mitochondria, deduce how 2 4 dxmtropheno] 1d cyarude would prevent the ft  ation
of ATP. ' . _ S [5 marks]

©) The AVERAGB speed of a 5000 metre run’in the Olymplcs isgl~=-~~ than the 100 metre
dash. Runpers branthe ”M_g" amA-ant, after completmg the 100 metre race. Discuss the

© Teasons for these poenomena. - . . s [5 marks]

Total 20 marks,

5. (@  With reference to ONE ex. Jlein EACH« s, djsﬁnguish betweenthet  s:

@ - Ecosystc;,m ' o o v[4_mar'ks]
G) Habit .. .0 [3marks
(i) . Niche . [ 3 marks]

(b) Tr  dc levels thhm an ecosystem can be analysed by us1ng the concept of THREE
" different ecological pyramids. ~ )mment on the SHAPE and ACCURACY of each of _
the pyramids in interpreting the interrelations of the levels. - [10 marks]

.Total 20 marks
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mx must answer THREE questions in this sectmn ' Answer ONE question EACH from =










